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Q.1 Select the correctly spelt word.
Ans 1. Business

2. Buisnesc
3. Buisness

4., Busines

Question ID : 264330143954
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate synonym of the word ‘Keen’ from the given sentence.
| am eager and happy to visit the beautiful city of Darjeeling next month with my family.
Ans 1. beautiful
2. visit
3. eager

4. happy

Question ID : 264330144311
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate ANTONYM for ‘scarcity’ in the given sentence.

In spite of having ice glaciers across the globe, people don’t have excess of fresh
drinking water.

Ans 1. Excess
2. Water
3. Glaciers

4. Fresh

Question ID : 264330144114
Status : Answered
Chosen Option : 1




Q.4 Select the option that expresses the given sentence in passive voice.
A sudden noise frightened the horse.

Ans 1. The horse has been frightened by a sudden noise.
2. The horse was frightened by a sudden noise.
3. The horse had frightened by a sudden noise.

4. The horse got frightened by a sudden noise.

Question ID : 264330143043
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

In today’s world, technology must be used for feed the changing forces in society.

Ans 1. must had been used to feed
2. must have been used to feed
3. must used to feed

4. must be used to feed

Question ID : 264330144095
Status : Answered
Chosen Option : 4

Q.6 Select the option with the correct spellings to replace the underlined words in the
given sentence.
The enchanteng scenary of the beautiful lake was mesmerising.

Ans 1. enchanting; scenery
2. encanting; scenery
3. enchenting; seenary

4. enchantine; senery

Question ID : 264330143241
Status : Answered
Chosen Option : 1

Q.7 Select the option that expresses the given sentence in active voice.

The matches are being shown live on Sports TV.
Ans 1. Sports TV is showing the matches live.

2. Sports TV may be showing the matches live.
3. Sports TV will be showing the matches live.

4. Sports TV can be showing the matches live.

Question ID : 264330141352
Status : Answered
Chosen Option : 1




Q.8 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

A. we need to understand where we are and,

B. that will require significant investment

C. where we are headed, and

D. in our data and information infrastructure

E. to stay ahead of these crises

Ans 1. EACBD
2. CEDAB
3. BACDE
4. BAEDC

Question ID : 264330149498
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate homophones to fill in the blanks.
Kindly accept my on your new haircut. It your personality.

Ans 1. compliment; complaints
2. compliment; complements
3. compliment; compliments

4. complement; complements

Question ID : 264330149882
Status : Answered
Chosen Option : 3

Q.10 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A. embarrassment and difficulty for them and himself
B. the great gods Odin and Thor, helping them with
C. his clever plans but sometimes causing

D. Loki was represented as the companion of

Ans 1.D,B,C A
2.C,D,A, B
3.B,D,C A
4.A,B,D,C

Question ID : 264330149585
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate ANTONYM of the word in brackets to fill in the blank.

Since she had never travelled abroad, she was both (CALM) and
nervous for her upcoming trip.

Ans 1. Hyped
2. Apathetic
3. Excited

4. Hopeful

Question ID : 264330149825
Status : Answered
Chosen Option : 3




Q.12 Select the most appropriate synonym for the underlined word in the given sentence.
The guest was heckled by the spectators.

Ans 1. Calmed
2. Aided
3. Taunted

4. Helped

Question ID : 264330143128
Status : Answered
Chosen Option : -- 3

Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

The vehicle which carries dead bodies
Ans 1. Coffin

2. Hearse
3. Ambulance

4. Corpse

Question ID : 264330144107
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined words in the
given sentence.

The principal posted all the staff rules in black and white.
Ans 1. on chart

2. on board
3. in writing

4. in coloured print

Question ID : 264330142659
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate ANTONYM of the given word.
Support

Ans 1. Oppose
2. Stay
3. Bear

4. Stand

Question ID : 264330141296
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate meaning of the underlined idiom.

The new electric car costs an arm and a leg.

Ans 1. Needs physical strength to drive
2. Is very expensive
3. Is very cheap

4. Has no gears

Question ID : 264330144381
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
She can draw very well and just as creative.

Ans 1. as creativer
2. as creatively
3. creative than

4. creative

Question ID : 264330144815
Status : Answered
Chosen Option : -- 2

Q.18 Select the most appropriate idiom for the following statement.
It's better to get less than what you want than get nothing.
Ans 1. Half a loaf is better than none.

2. Waste not, want not.

3. Where there is smoke, there is fire.

4. A storm in a teacup

Question ID : 264330149544
Status : Answered
Chosen Option : 1

Q.19 Select the option that expresses the following sentence in superlative degree of
comparison. It looks like our bad fears are coming true.

Ans 1. No change required
2. The worse fears are coming back it seems so.

3. It looks like our worst fears are coming true.

4. The fears with bad thoughts come back.

Question ID : 264330149504
Status : Answered
Chosen Option : 3




Q.20 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.Written in unadorned Sanskrit prose
B. One of the world’s earliest books

C. Devoted to statecraft,

D.The Arthashastrais

Ans 1.D,B,C,A
2.C,D,A,B
3.B,C,A,D
4.D,A B, C

Question ID : 264330142612
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A couple of minutes later, a woman comes running towards the desk. As soon as she sees
the little girl, she shouts and (1) up to her. She lifts the girl into her arms and holds her
very tight. Then she separates herself from her daughter and looks at her (2) while
she says, “| am here, Andrea. Everything is okay. | love you, honey.” Then she turns and

?3) the man. “Thank you so much, sir,” she says. “We got separated in the crowd
earlier. My daughter is deaf, so | could not make an (4) over the speakers for her.
I was looking for her everywhere. | was so worried!”. Now the man understands why the little
girl did not look at him until he (5) her shoulder.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. chase

2. runs
3. stares

4. blinks

Question ID : 264330143900
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A couple of minutes later, a woman comes running towards the desk. As soon as she sees
the little girl, she shouts and (1) up to her. She lifts the girl into her arms and holds her
very tight. Then she separates herself from her daughter and looks at her (2) while
she says, “| am here, Andrea. Everything is okay. | love you, honey.” Then she turns and

?3) the man. “Thank you so much, sir,” she says. “We got separated in the crowd
earlier. My daughter is deaf, so | could not make an (4) over the speakers for her.
| was looking for her everywhere. | was so worried!”. Now the man understands why the little
girl did not look at him until he (5) her shoulder.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. ears

2. nails
3. face

4, skin

Question ID : 264330143901
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A couple of minutes later, a woman comes running towards the desk. As soon as she sees
the little girl, she shouts and (1) up to her. She lifts the girl into her arms and holds her
very tight. Then she separates herself from her daughter and looks at her (2) while
she says, “| am here, Andrea. Everything is okay. | love you, honey.” Then she turns and

?3) the man. “Thank you so much, sir,” she says. “We got separated in the crowd
earlier. My daughter is deaf, so | could not make an (4) over the speakers for her.
| was looking for her everywhere. | was so worried!”. Now the man understands why the little
girl did not look at him until he (5) her shoulder.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. opts

2. discreet
3. greets

4. rejects

Question ID : 264330143902
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A couple of minutes later, a woman comes running towards the desk. As soon as she sees
the little girl, she shouts and (1) up to her. She lifts the girl into her arms and holds her
very tight. Then she separates herself from her daughter and looks at her (2) while
she says, “| am here, Andrea. Everything is okay. | love you, honey.” Then she turns and

?3) the man. “Thank you so much, sir,” she says. “We got separated in the crowd
earlier. My daughter is deaf, so | could not make an (4) over the speakers for her.
| was looking for her everywhere. | was so worried!”. Now the man understands why the little
girl did not look at him until he (5) her shoulder.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. claim

2. announcement
3. notification

4, assertion

Question ID : 264330143903
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A couple of minutes later, a woman comes running towards the desk. As soon as she sees
the little girl, she shouts and (1) up to her. She lifts the girl into her arms and holds her
very tight. Then she separates herself from her daughter and looks at her (2) while
she says, “| am here, Andrea. Everything is okay. | love you, honey.” Then she turns and

?3) the man. “Thank you so much, sir,” she says. “We got separated in the crowd
earlier. My daughter is deaf, so | could not make an (4) over the speakers for her.
| was looking for her everywhere. | was so worried!”. Now the man understands why the little
girl did not look at him until he (5) her shoulder.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. felt

2. touched
3. contacted

4. cracked

Question ID : 264330143904
Status : Answered
Chosen Option : 2

Section : General Intelligence




Q.1

Ans 1L EUOT
2. DTNS
3. ETOS
4 CTOU Question ID : 264330151986
Status : Answered
Chosen Option : 1
Q.2
Ans 1. 57
2. 53
3.
4. 69 Question ID : 264330146750
Status : Answered
Chosen Option : 3
Q.3
Ans 1.
2.
3. 289
4. 309 Question ID : 264330147334
Status : Answered
Chosen Option : 4
Q.4
Ans 1.
2.
3.
4. Two Question ID : 264330146878

Status : Answered
Chosen Option : 2




Q.5

Ans 1. Six
2.
3.
4. Question ID : 264330146635
Status : Answered
Chosen Option : -- 2
Q.6
Ans 1.
2.
3.
4,

Question ID : 264330147307
Status : Answered
Chosen Option : 1




Q.7

Ans

% % % % %

* % % %

00O
OO

% % % %

X % % K

Q0O
mym

K K kK K K

Q00O

ooo
A A

% % % % %

XK K K XK

00O
oa

Question ID : 264330147231
Status : Answered
Chosen Option : 1

Q.8

Ans

-] e S L

Question ID : 264330151006
Status : Answered
Chosen Option : 4




Q.9

Ans 1. 5
2. 7
3. 8
4. 12
Question ID : 264330147502
Status : Answered
Chosen Option : 2
Q.10
Ans 1. 72
2. 75
370
4. 77
Question ID : 264330147316
Status : Answered
Chosen Option : 2
Q.11
Ans 1.
2.
3. 12,69 Question ID : 264330146388
Status : Answered
4.

Chosen Option : 4




Q.12

Ans 1.19:40
2. 16:37
3.41:85 Question ID : 264330150906
4. 3672 Status : Answered
Chosen Option : 2
Q.13
Ans 1.
2.
3.
4. Question ID : 264330146332
Status : Answered
Chosen Option : 2
Q.14
Ans 1. 33
2.
3. 51
4,

Question ID : 264330146992
Status : Answered
Chosen Option : 2




15
© In a certain code language.

A + 7 means ‘A is the mother of Z°,
A — 7 means ‘A is the brother of Z°,
A * Z means ‘A is the sister of Z°,

A + 7 means ‘A is the daughter of Z’.

Based on the above, how is Jrelated to L, if T+ K+L-T x R?

Ans 1.
2.
3.
4.
Question ID : 264330147415
Status : Answered
Chosen Option : 3
Q.16
Ans 1.
2.
3 Question ID : 264330146588
4 Status : Answered
' Chosen Option : 1

Q.17 M is the brother of N. N is the father of O. O is the mother of P who is married to Q. Q is the son of R. S is the father of
N and married to T. How is T related to O?

Ans 1. Mother’s father
2. Mother’s mother

3. Father’s mother

Question ID : 264330150844
Status : Answered
Chosen Option : 3

4. Father




Q.18

Ans 1.
2.
3' .
Question ID : 264330146695
4. Status : Answered
Chosen Option : 4
Q.19
Ans 1.
2.
3 Question ID : 264330147099
' Status : Answered
4. Chosen Option : -- 2
Q.20
Ans 1.
2.
3 19 Question ID : 264330147329
4. Status : Answered
Chosen Option : 3
Q.21
Ans 1. NAT
2. OLQ
3. IFK
4 QNS Question ID : 264330152072

Status : Answered
Chosen Option : 4




Q.22

Ans 1.
2.
3.
4,

Question ID : 264330146626
Status : Answered
Chosen Option : 2
Q.23

Ans 1 PJU
2. RKU
3. QGV
4 Q Question ID : 264330150470

Status : Answered
Chosen Option : 1




Q.24

Ans

Question ID : 264330146494
Status : Answered
Chosen Option : 4




Q.25

Ans 1.9

2.7
3. 8
410

Question ID : 264330151073
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q.1 A computer is available for 39,000 on cash payment or 19,000 as cash payment followed by five monthly instalments

of 4,200 each. What is the rate of interest per annum under the instalment plan?

Ans 19
1. 20=%
29
17
2. 20=%
29
20
3. 20=%
29
18
4. 20=%
29
Question ID : 264330154779
Status : Answered
Chosen Option : -- 3
Q.2
Ans 1. 0
2.
3.
4.
7 Question ID : 264330147737

Status : Answered
Chosen Option : 2




Q.3

Ans

1.
2.
3.
4 Question ID : 264330147959
Status : Answered
Chosen Option : 1
Q.4
Ans 1150, 70
2. 70, 150
3. 90, 120
Question ID : 264330150611
4. 12[]: 90 Status : Answered
Chosen Option : -- 4
Q.5
Ans

L 25v2
2. 2543
3 2043
42042

Question ID : 264330147802
Status : Answered
Chosen Option : 1




Q.6

Ans

P

190
2. 112
3. 1e2
- 136

i

Question ID : 264330146853
Status : Answered
Chosen Option : -- 4

Q.7

Ans 1.

Question ID : 264330146513
Status : Answered
Chosen Option : 3

Q8 [fA=60°B=230° then find the value of sin A cos B + cos A sin B.

Ans 10

2.12
3. 13
41

Question ID : 264330148158
Status : Answered
Chosen Option : 4

Q.9 If (a + i) = 6. then what is the value Of; (ﬂz + iz)?

a a
Ans 1225
2. 34
3. 25.5
4. 36

Question ID : 264330151069
Status : Answered
Chosen Option : 3




Q.10

Ans 135500
2. 5,000
3. 34,500
4.
4,000 Question ID : 264330151363
Status : Answered
Chosen Option : -- 2
Q.11
Ans 1. VIII
2.V
3. VI
4. VII
Question ID : 264330150829
Status : Answered
Chosen Option : 2
Q.12
Ans 4
=V
3
3
=W
4
7
=W
4
. 7
' §V Question ID : 264330148122

Status : Answered
Chosen Option : -- 4




Q.13

Ans
Question ID : 264330147740
Status : Answered
Chosen Option : 2
Q.14
Ans 1.
2.
3.
4.
Question ID : 264330147620
Status : Answered
Chosen Option : 4
Q.15
Ans

L (2421 + 2)
2 (2v/18-2)
3 (2v17 - 2)
4 (2V19 + 2)

Question ID : 264330149341
Status : Answered
Chosen Option : -- 3




Q.16

Ans

1.
2.
3.
4.
Question ID : 264330148097
Status : Answered
Chosen Option : 3
Q.17
Ans 1.1
2.0
343
4.
Question ID : 264330148060
Status : Answered
Chosen Option : 3
Q.18
Ans 1 21.873%
2. 22.6750%
3. 20.673%
4. 22.0625%

Question ID : 264330148887
Status : Answered
Chosen Option : -- 4




Q.19

Ans - 22:23
- 33:35
3623 Question ID : 264330149426
Status : Answered
- 35:36 Chosen Option : 4
Q.20
Ans i
3
-0
V3
-1
Question ID : 264330148875
Status : Answered
Chosen Option : 1
Q.21
Ans

Question ID : 264330147854
Status : Answered
Chosen Option : -- 2




Q.22

ANS 1 229704/23

22303023
3. 23060423
4. 22960+/23
Question ID : 264330146858
Status : Answered
Chosen Option : 2
Q.23
Ans 1.
2.
3.
4,
Question ID : 264330147640
Status : Answered
Chosen Option : 3
Q.24
Ans 1.
2.
3.
4,
Question ID : 264330148192
Status : Answered
Chosen Option : -- 2
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330147865
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1

Ans 1.
2.
3.
4,
Question ID : 264330145853
Status : Marked For Review
Chosen Option : 2
Q.2
Ans 1.
2. Haryana
3.
4. Tharkhand

Question ID : 264330148652
Status : Answered
Chosen Option : -- 3

Q3 In the MPL 59th Senior National Chess Championship held in
Delhi ,Who became India's 78th Grandmaster ?

Ans 1. G Akash
2.
3. Pranav 'V
4. Prithu Gupta

Question ID : 264330150084
Status : Answered
Chosen Option : -- 2

Q.4

Ans 1

2. Article 19 (1)

3.

4.
Question ID : 264330151225

Status : Answered
Chosen Option : 4




Q.5  The neutral point in the magnetic field of a horizontally positioned bar magnet is the:

Ans

1.
2.
3.
4.
Question ID : 264330150144
Status : Answered
Chosen Option : -- 4
Q.6
Ans 1.
2.
3.
4.
Question ID : 264330145612
Status : Answered
Chosen Option : 3
Q.7
Ans 1.
2.
3.
4.

Question ID : 264330145598
Status : Answered
Chosen Option : -- 1

Q8  The Western Ghats and the Eastern Ghats meet at which of the following places in southern India?

Ans

1.
2.
5. Nilgiri Hills

4.

Question ID : 264330150258
Status : Answered
Chosen Option : 3




Q.9

Ans
1.
2.
3.
4.
Question ID : 264330144669
Status : Answered
Chosen Option : 2
Q.10
Ans 1.
2.
3.
4,
Question ID : 264330145916
Status : Answered
Chosen Option : -- 2
Q.11
Ans 1.
2.
3.
4,
Question ID : 264330145775
Status : Answered
Chosen Option : 3
Q.12
Ans 1 Article 48
2. Article 46
3. Article 47
4. Article 45 Question ID : 264330150367

Status : Answered
Chosen Option : -- 3




Q.13

Ans 11923
2. 1936
3. 1911
4. 1927
Question ID : 264330155084
Status : Answered
Chosen Option : -- 1
Q.14
Ans 1.
2.
3.
4,
Question ID : 264330145787
Status : Answered
Chosen Option : -- 4
Q.15
Ans 1
2.
3.
4.
Question ID : 264330154812
Status : Answered
Chosen Option : 4
Q.16
Ans 1 Punjab
2.
3. Haryana
4.

Question ID : 264330146253
Status : Answered
Chosen Option : 2




Q.17

Ans 1.
2.
3.
4.
Question ID : 264330144721
Status : Answered
Chosen Option : -- 3
Q.18
Ans 1.
2.
3.
Question ID : 264330145714
4. Status : Answered
Chosen Option : -- 2
Q.19
Ans 1 20.5%
2. 20%
3. 21.8%
4. 28%
Question ID : 264330150328
Status :Answered
Chosen Option : -- 3
Q.20
Ans 1 JLGs
2. MEDP
3. SGSY
4.

Question ID : 264330151338
Status : Answered
Chosen Option : -- 1




Q.21

Ans 1 Pandya
2. Pallava
3. Chola
4. Chera
Question ID : 264330150209
Status : Answered
Chosen Option : 3
Q.22
Ans 1. 90
2. 120
3. 150
4100 Question ID : 264330150703
Status : Answered
Chosen Option : 4
Q.23
Ans 1.
2. Chhau
3. Kathak
4. Kuchipudi
Question ID : 264330151214
Status : Answered
Chosen Option : -- 4
Q.24
Ans 1.
2.
3.
4,

Question ID : 264330145637
Status : Answered
Chosen Option : -- 1




Q.25

Ans

1. Ministry of Commerce and Industry

2. Ministry Of Earth Sciences

3.

Question ID : 264330150381
Status : Answered
Chosen Option : -- 3
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